OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

£3-2 #ERFRT

(1 /18R—3)
HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
A= (EEHE)
ve B B a5t A B
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (5£5HE) HHE HEH &
1@EsaD K E LS 217 29 246 3877 4123 94% 6%
279 )ILTFT IR 0 0 19 19 98Y% 2%
7o) IILEET FIL 3 180 7 190 0 190 0% 100%
A7V VIVBBR T ZDKAME 7 7 0 7 0% 100%
5|7 )IEE2 — (UAFIVFI)) TFIL 180 7 187 187 - -
6l7ZVIEE2 —E ROFPTFIL 0 0 0 0 0% 100%
7o) IVEE < IL—TFI 13 13 0 13 0% 100%
8|7V )ILERXFIL 0 180 7 187 0 187 0% 100%
olroyo=rYI 0 72 73 2200 2273 97% 3%
0|l7roL4>v 181 234 3080 3495 3495 - -
17 F MY oL 0 0 0 - -
2|7 M 7ITER 92 837 1286 16380 18595 18595 - -
13|72 r=kYJL 91 111 202 814 1016 80% 20%
162, 2" —FPYVERAYVTFO=MYJ 0 0 0 - -
18l7=1) v 0 0 0 - -
2012—73I/)T5)—) 15211 47534 62745 1900 64645 3% 97%
2|5—73/—-1—[2, 6—Ys00—-4— (b 270 0 270 270 - -
YA XFIV) 72z=)0V] —3—->TF7/)—4
— [ (KNYZNAQXAFI) AT 1ZIV] ES
V=L (BI%7470Z)0)
29[1—=F7YIAXL—2, 3—TRF>FONY 2 2 2 - -
|EHETILFIRVEVRILKRVBEROZEDIE (7 11365 6852 53608 71825 34 71859 0% 100%
WEIEDOREHNT1ODS14ETOEDRY
TDEREMICR D, )
N7V FEVRUZDILEY 92 92 0 92 0% 100%
RFVESEY 0 0 0 - -
33| e 0 0 - -
M|B—AVYYTFIAFIL—-3, 5, 5—KYXF 0 0 0 1 39% 61%
o oanEv =AY TE—h
6|4V T LY 2038 2038 2038 - -
HEHREE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

£3-2 #ERFRT

(2 / 18R—Y)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) Bt
BHAHEHE (#EHE)

18 ML RiguE &t R
= §§§§§ 3H¥§§§ REE BEE JNEF (55tHE) HEHE | HEHE
374, 4 —qavFaEyFryIoz /=)L (3% 1 0 1 0% 100%

E27x/—JLA)
4y 7OEL=2— (4—X X ETz=ZIL— 80 80 - -
%—1%)t$5§/$»7—#(%%571+
43" —qvyFaRFY—2—KNYT)LFOXAFI 824 824 - -
NYZXF7=ZYR BILZILEZZIV)
RI2—AIFIYVIVFF Y 1 1 - -
U4 I LRV ZDIEEY 0 0 - -
BlTFN=2—-[4— (6—rOO—-2—F/%H% 21 21 - -
YZ)IAFxY) 7z/x>] ot +—K~ (B
ZxHaky TTFI)
4710 =T FI=0— (6—=hO—=X%—=hK1)JL) 177 177 - -
=t HVFY)—TFIKRARILFIRFLT7—h
(BIETH IHRR)
Bl0O—TFI=0—-4—-=rOT7zz)=T =) 1040 1040 - -
KRR ) FAT7—h (BILEPN)
HIN— (1 —IFILFOEL) —2, 6—-Y=+0O 2185 2185 - -
=3, 4—F2VTY (BIERVYTAXA8) V)
50|S—TFI=~AFxHbrRO-1TH-T7EEY—1 168 168 - -
—ALVEAFFT7—b~ (BIZEYR—b)
5112 —TFIAFH VEE 15 15 - -
2|tF)= (Z) —3— (N=RYTJJI—-N— {[ 640 640 - -
AXFI (1 =XAFIVFAIFIYTVT I/ AFY
HIVR=IV) PX/] FA4Y 7I/) T+ S
— N RIZT7S=HILT)
BI|TFILRVEY 39984 64206 5810 41088 151087 15484 166571 9% 91%
540 —ITFIN=S—1—=-XFNTOEL= (2—-F 7710 7710 - -
FY=3=FFYYIZI) KRAK/FFT—h
(BIERRAFT7HE—R)
56|TFLvAFU RN 688 2603 3291 79% 21%
S/l TFL Y aA—)LE/ITFILI—FTI)L 490 0 0 490 - -
58|TFL v F ) I—ILE/ AFILI—FTI 26 840 866 97% 3%

BRHFE : SH03FE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3—2 HWERRH

(3 /18R—%)
HRYE B8 (ka/4E; 9" 1459V 4E IZmg-TEQ/4E) WL
FBHEAHEHE (HEHE)

18 ML RiguE &t R
5 gfégg 3%9%%%%@; . BENE N (55HE) HHE =
RlzFLyIFPIY 0 0 0 - -
BO|TFL Vo7 IV mER 36 20 55 55 - -
61|N, N’ —IFLYER (YFFHILNIVE) 2175 2175 2175 - -

TVHY (METVFT)
62[N, N’ —IFLYER (YFFAIL/NIVE) 12528 12528 12528 - -

vsz/tN N —ITFLYER (FLHIL

NZY Ex% FIDEY GIE<YIET T

< ¥

631, 1" —TFL V- 2 20 —FEYI=ZYA 3798 3798 3798 - -

=y7JOzIRf REYI/7hI7OI RS

7y R)
64|2— (4—ThFxv 7)) —2—XF)TFO 1645 36 1681 1681 - -

EV=3-7z/FIRVINI—FTI (BIEZT

koxzo7OvoR)
hlzrsyopke Ry > 0 0 0 0 0% 100%
68 )1 , 2—TREL IOy (ALERELIOEL Y 0 0 0 - -
NI AV F U REFRIE BIRITAIF VB 37 37 37 - -

aRBEBRERVIVAVF VB 1 bREERE

DEEY)
T [IEEE =8 0 0 0 0 0% 100%
B1=F0% =)L 0 0 0 - -
TS —F 9 FIL T /=)L 0 0 0 0 0% 100%
75| KISV LARUVZDEEY 1 11 21 32 66% 34%
6|4 7oAy —hAT7AS579 L 0 0 0 0 0% 100%
8o|lx Ly 51476 173571 6641 159430 391118 28295 419413 7% 93%
B 0 0 0 - -
S2|BR R U F DAL EY 30 30 0 30 0% 100%
83|y x v 451 802 1253 1253 - -
84| ) A xH—JL 0 0 0 - -
85| 7 ILHILTIFE R 14 14 14 - -
86| LYV—JL 2 18 49 69 0 69 0% 100%

HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)
R3I—2 FWEFEH

(4 / 18R—Y)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) Bt
BHAHEHE (#EHE)

18 ML RiguE &t R
5 gfégg 3%%%@%@ . BENE N (55HE) HHE =
87/ O ARUV=E 7 O LAY 25 0 25 1232 1257 98% 2%
88|52 O LA 0 0 369 369 100% 0%
W2—rOQO—-4—-ITFIFI/—6—4Y7OF 3143 3143 3143 - -

WP2/—=1, 3, 6=NYTPIY (BIRT7 IS
2,
91|12 — (4—4OA—-6—ITFLF7I/—1, 3, 50 50 50 - -
5—-N)T7ov—=2—4)) PXT/)—2—XF)
JaEA /= ) BIZVTFIV)
R)4—s00-3—IFI—1—XFJ—N- [4 567 567 567 - -
— (RS RMYLFFS) RUIL] ESY—)L—
5—HIARFHIR FILMLTIVESR)
93[2—sOA—2" —ITFI—N— (2—X|hxY 2429 2429 2429 - -
—1=AFIITFI) =6’ —AFILFEIF7=
R (BIgXNZ20O—))
9lyoaTFLYy (BlEELLE=IL) 1 1 5902 5904 100% 0%
953 —soO0—-N-— (3—sO0@O—-5—MY 7))L 610 109 719 719 - -
AXFIL—2—-EYII) =TT 7w, PILIT¥
, PLW77—=KY7L40-2, 6-I=t0O-
HKS—MLATY (RIBTINTIFb)
9%|1— ({2—[2—s00—-4— (4—»OO7 40 40 40 - -
T/F¥Y) 7z=Z)] —4—XF)—-1, 3=
AXYZU—=2—A)L} AFI) —1TH=1, 2
, A=Y 7Y=L (Rl&Y 72/ aFV—))
1002 —»vo@mO—2" , 6 —YIFI—N-— (2— 2112 2112 2112 - -
JaRF>TFIV) PN YR (BIRTLF
So0—))
1012—s00—-2" , 6" —=YITFIL—N— (A} 2240 2240 2240 - -
T?X%»)Tth?ZUF(%%Tfﬁﬂ—w
103|11—2o0—1, 1=<7)40x49 > (Bl&H 516 221 1957 2694 2694 - -
CFC—142b)
104|700 7)40x%9 Y (BIEHCFC—22) 2026 8533 1012 11571 4800 16371 29% 71%
108 (RS) —2— (4—sOO0—FIb—=KYIF 846 846 846 - -
*2) 7oA VEE RIEX2 7Oy )

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3—2 HWERRH

5/ 18R—Y)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) Bt
BEEAH = (HEEHE)

18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
1M3|12—s00—4, 6—EX (ZFILTI/) —1 2 2 19 21 90% 10%

33,5—hU79y(%%979y2u0AT
114 (RS) —2—[2— (3—OO07z=)l) — 431 431 431 - -
2, 3—IARFFAOENL] —2—-ITFIAVH
V=1, 3=#Y RAAVYT/T77)

11514 — (2—70Q7x=J)L) —N—I20O0~NFY 1616 1616 1616 - -
I=N—-IFJ—4, 5—2krkO—5-— ##v
—1TH=Fr3Y——1=ALEEHI R (3
L7V hSYIR)

116 (4RS, 5RS) —5— (4—sO0Q7z=)lL 10 10 10 - -
) —N—=>2O0AFY)—4—XFJ—2—FF%
V=1, 3=FFYUIY—3—ALKFHIFK
(RIEANELFT VI R)

117 (RS) —1—=R_5—4s0OQ7zx=)L—4, 4— 193 193 193 - -
TAFI—3— (TH=-1, 2, 4—KYF7J—
W=1 =AW AF)) Ry =3 —=F—)L (5l
2773V =)

1182 — (4—»o0z7zx=)) —2— (1H-1, 40 40 40 - -
2, 4= RNUTV—)b—1 —ALXFL) ~FH
YY) B&IIOTYZI)

119 (RS) —4— (4—40OQ07xT=)b) —2—7 22 22 22 - -
IZl—2— (1H=1, 2, 4—hY7PJ—)L
—1—AIAFI) 7FA=MYL BTV
Ja+ryJ—))

12517 0OV £y 209 2548 2757 2757 - -
m67FD&y97wTD19>(%%CFC—11 7 7 7 - -

5

127|270 kIiL A 235 61 290 586 5994 6580 91% 9%
132]|3/N)L s RUZ DS 75 0 0 75 6 82 8% 92%
1BEM2—ThF>TFI BIZTFLYIYI— 460 460 460 - -

NVE/IFNI—FTNTET—b)

134[FERR E =L 123 148 10 281 281 - -

13B[EE2 — X YT FII BIETFLYSYO— 4 4 - -
WE/IAFINI—FITET—h)
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)
R3I—2 FWEFEH

(6 / 18R—Y)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
5 gfégg 3%9%%%%@; . BENE N (55HE) HHE =
137|>7F+ 3 R 32 32 32 - -
139 (S) =PI T77—YF/)—=3—Tx/)FIRY 1 5 7 7 - -

)= (1R, 38) =2, 2—UAFJ—3—
(1, 2, 2, 2=FF370FEIFI) >0
)7°|:1/\°‘/jJ)lu'J'i=\‘—°/5—|\ G A B U
140)| (RS) =77 7—YTF7)—3—7x/FIR 20 2 22 22 - -
vIN=2, 2, 3, 3=-FhrSAFIIIOT
I:I;\"‘/jJ)LTJ'i‘ﬁF/ﬁ M (Bl&7zz>7a/NNY
v
MMNSYR=—1— (2=2F/)—2—-X R ¥ M3 600 600 600 - -
/73129’-») —3—IFNLILT RBIEYEXY
=)L
144 ;ﬂ‘ﬁl’é/ TobEY BERUVY T UVEEEKRL 13 93 106 1040 1145 91% 9%
147IN, N=YITFILFAHILNRIVES—4—-40 2396 2396 124 2520 5% 95%
D;;9N(%%??Nyﬁw7XMN>?Tﬁ
148N, N—=<ITFIL—3— (2, 4, 6 =K XAF 273 273 273 - -
VT TZJRINEKR=ZI) —1TH=1, 2, 4—K
D7V —=Ib—1—AIKRFHIR BIEHTY
2 hOo—JL)
149|MmiE1b ik 3= 0 0 12 12 100% 0%
150|1, 4 —VAFH 22 22 327 348 94% 6%
152|11, 3=V HINREAIFA—2— (N, N=- 2579 2579 2579 - -
AFILFI)) =708y BIEALY Y F)
B3l vanxd—1—Tv—1, 2—YHILKRFY 9 326 335 335 - -
1IRAFI=(1RS) —Y2-hr5VR-2
, 2=IUAFIIN =3 = (2—=XF)TO/NR=1—
I=)L) vyra7anvalREyS—k (B4
FRhSXNYY)
155|N— (7 a~xIILFH4) 2943 R 2 2 0 2 0% 100%
157{1, 2—yyon0x¥y v 21 21 19 40 48% 52%
158 )1, 1—-vso0xFLy (AEELLEZYFY 23147 23147 - -

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

£3-2 #ERFRT

(7 / 18_R=Y)

HRYE BEHE (kg/5F; 97 144y V48 1dmg-TEQ/ &) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
: REREE | HAAR | e | mms | oaw | N o
159> 2—1, 2—ysO0TFL YV 268 268 - -
161|770 v 040Xy (AMELCEFC—12) 1047 251 1836 917 4051 0 4051 0% 100%
162|3, 5—<200—-N— (1, 1= XF -2 366 366 366 - -

;7DE:»)&yXTEF(%%7DEﬁ$P
1642, 2—< 4 oOp—-1, 1, 1—KY7)40x 167 319 485 485 - -
v (BIZHCFC—123)
168|3— (3, 5—vysoO7xz=)l) —N—a4YT 870 870 870 - -
AEL—-2, 4-IFFVYALIFTVYIV—1—
ALVREHI RN Blg1 7O F V)
16913 — (3, 4—<oon7z=)) —1, 1= 1 800 801 801 - -
AXFIERFE (BlEayoarXiEDCMU)
1711 (2RSS, 4RS) —1—[2—- (2, 4= 42 42 42 - -
ogo7z=Jl) —4—-7O0ENL—-1, 3—-YF4F
YSU=2—=AAFI] —1TH=1, 2, 4—
FNYZ7Y—ILERUY (2RS, 4SR) —1—[2
— (2, 4—vyyOO7zz=)V) —4—-70ENL
=1, 3=UFFVYSIU-2—-A)LAFI] =1
H=1, 2, 4= N)F7YV—-ILDOREY (Bl&T
aE3I+v—J)
172|13— [1— (3, 5—=ysQO@7z=JL) —1— 182 182 182 - -
AFIITFIL] —3, 44—k RO—6—XFI
—5—7x=J—2H—-1, 3—FFHT -4
—ZF Y (AEAFHTIOXKEY)
174|3— (3, 4—<sO07xT=)L) —1—XK* 909 909 909 - -
=1 —XFIRHE B&)=20V)
175|2, 4—<voon07 /o8 (Bl&2, 4— 2200 2200 2200 - -
DXIix2, 4—PA)
176(1, 1—v7O00—-1—-7)40xT4%Y (BIELH 2551 537 4767 7855 7855 - -
CFC—141b)
178{1, 2—=vson7 /sy 9 9 9 - -
179]11, 3—<vson7 ARy (B&D—D) 516131 516131 12 516143 0% 100%
181|lyoaRyEy 22 197 49513 49731 49731 - -

BRHFE : SH03FE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3—2 HWERRH

(8 / 18_—Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
182|2—[4— (2, 4= voaRVyYqI) —1 2268 2268 2268 - -
, 3=UAFI—-5-ESVILFFY] PEI
J7x/)v (REESYXITTY)

18314 — (2, 4—<ovoORvyY4AIL) —1, 3— 4727 4727 4727 - -
IAFI=5-EFYY)L=4—FLITVRIK
F—k BIZESYL—K)

184|12, 6—yyoORyYy =KL (BI&TrON 134 134 134 - -
ZJXIZDBN)

185 9‘321:1;\“/677»7}1:17“:1/\"*/ (Bl&EHCFC 61 61 730 791 92% 8%
— 5

186y OO XYY (BIEEIEXFL V) 10810 10810 96740 107550 90% 10%

18712, 3=V 7 /=1, 4=SFFF7VRSF) 1260 1260 1260 - -
v (EIFT V)

189IN, N=oo /O )l—2 —-RVYFF7YV— 0 0 - -
WAL TTVT IR

190|PvsaRvyeT Ty 0 0 0 0 0% 100%

1911, 3—=YFASv—2—qYUFrvaOv@Es4 212 212 212 - -
yfuew(%%4v7 FASV)

15| FA4 Y ABRO—2, 4—2007x=)L—0 939 5 944 944 - -
ZIFL-S—7OFL (RETOFAKR)

196 FAYABES— (2, 3—YbRO-5—-XF 1648 1648 1648 - -
FO—2—FFxY—-1, 3, 4—FF7ST7I—I
—3—4J) XFIL—0, O—UXF (BEA
FHTFAVEDMTP)

197V F A Y AEEO, O—SXFI—-S—-1, 2—-F 1428 1428 1428 - -
2 (ZhFT2HLRZII) TFIL BEIZTY Y
RIFXSFA V)

203|7 z=IT IV 0 0 0 - -
04| 7zLT—FI 0 0 - -
205|1, 3= x0T =VY 0 0 0 0 0% 100%
206IN—C TFILT I/ FA-—N—=—XFILAINIY 6 6 6 - -

B2, 3-YbRO—-2, 2=YUXFI—7—-R
vV [bl 25 (BIZAIKRRILI 7V)
HEHEE : $F03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

£3-2 #ERFRT

(9 / 18R—Y)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
= PREEE | RIRAEE R BRIk NG e = =
2072, 6=V —=4—vY—=TFI—4—-0LY— 2 121 16 139 139 - -
)L
20|70/ 0@ X8V 61 27 116 204 204 - -
21012, 2—o7JAE—2—- 7 ) FPERF7INR 6400 6400 - -
212 (RS) —0, S=UAFL=FEFIKRRARIL 994 81 1075 1075 - -
PIRFFAT7—b BIET7ET—1)
213N, N=U A FIFPEIFTIR 112 21 133 9600 9733 99% 1%
216|N, N=S X FIILF7=) v 0 0 0 - -
217|5—CAFITI)—1, 2, 3—=KYF7v ( 150 150 150 - -
BMEFAT IS L)
18| XAFIVT IV 1 1 1 - -
22112, 2—=UXFII—2, 3=YeRO-1-RY 100 100 100 - -
V75 —T7—4)=N— [N— (2—T hF>
AIKRZJIIFI) —N—4AYVTAEILRILT T
FTEANL] = N=XAFIALNRT— (BlERY
72ZhIVT)
224IN, N=SAFILRTFUINFTIV=N—FFI R 99 825 8984 9908 24 9932 0% 100%
225U X F =2, 2, 2—rYysOO—-1—-kt kRO 7 7 7 - -
FUOIFINKRRRFT—F (Bl M) 70OILFVX
[EDEP)
22711, 17 =X F)—4, 4’ —EEYY =LA 2690 2690 2690 - -
=vsAaY K (&R I—-MF/5a—-+Y
78y K)
29| XA F)=4, 4 — (AW b—7z=L V) E 3332 3332 3332 - -
2 (3=FA7A77F+—bt) BIEFAT 7R
— kX FIL)
230|N— (1, 3—=UXFITFI) =N —2zx= 0 0 - -
IW—NS—Jx=LVIFTIV
232IN, N=S A FIRILT IR 6833 6833 1 6835 0% 100%
23B|2— [ (ANKVRRT A JFAAI) F4] 1704 1704 1704 - -
—2—JIZ )BT FI (BIZE7zzv hI—b
XIEPAP)
234|R % 0 0 0 0 78% 22%
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3—2 HWERRH

(10 / 18R—Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

) W LR RiguE st B oa | B
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
235|RFEEDKAMEE 0 0 0 - -
236(3, 5—YIA—KR—4—FI9/MILFFIRY 30 30 30 - -

V)L BIBTAFFIZI)

237|KBRVOZDILEY 11 11 5 17 31% 69%
29| EHR X L&Y 1 1 0 1 0% 100%
240|2F L v 1287 969 0 9219 11475 5450 16925 32% 68%
22|12 L Y RUEDILEY 10 10 69 78 87% 13%
203|514 A% V¥ 171.3200072 82.58478339| 0.241455285| 8.599339441|  262.7455853(1772.517040157(2035. 262625457 87% 13%

0004 0004
20412 —F A FY — ,5—/x FIF S RO- 86078 86078 86078 - -
E?—1 3, b5=FTITIY (BEBEIV XY

245|F 7 FR&%& 0 0 2100 2100 100% 0%

248|F 4 Y ABRO, O—YIFIL—0— (2—4V7F 5702 5702 5702 - -
OEL—6—XFI—4—-EYIY=ZL) (Bl
AT )V)

209|F 4 Y ABBO, O—STFI—0— (3, 5, 6 1228 1228 1228 - -
—MN)ooo-2-EYZI) (Bl&oOLEY
HRR)

250|F 4 Y ABEO, O—YIFIN—-0— (5—7x= 111 111 1 - -
»;3—4v1##vuw)(%%4v#ﬁ%#
v

B1FFYAEEO, O—IAFI—0— (3—XF) 4323 415 4738 4738 - -
—4——bO7z=)V) BEZ7z=hOFFV
XIEME P)

252|FF Y ABEO, O—IAFI—0— (3—XF) 55 8 63 63 - -
—4—XFNFATIZI) RBIEIzVFAY
XIEMP P)

WAFAYABES — RV -0, O—q4v7Or 51 51 51 - -
I (BIE4A T7ANVERARIE | BP)

255|F7 A7aEY 7z =T —FI) 0 0 0 - -
256|5 H VER 3 0 3 3 - -
257|F I a—I (BIETH/—I) 24081 0 24081 24081 - -

HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER

3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3—2 HWERRH

11 / 18=R—=3)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
N HREE: | W Rz B Erf Nt e . .
2581, 3, 5, 7—F+ ST7H¥RrYToO [3. 3 1 482 483 0 483 0% 100%

11 (3, 7)1 FThYy RIaANFYAFL
vFhSIV)
29| F NSITFILFHISLYRIL T4 K (RZGT I 1 1 1 - -
745 L)
26017 hSoooq4vzdO=-rYJ (Bl&oOO% 7592 896 8488 8488 - -
O=JLXIETPN)
26114, 5, 6, 7—F 37004 YRII ISV 2235 2235 2235 - -
—1 (3H) —=F> (BILIHSA4K)
262|7 SOOI FL YV 1509 1509 59 1568 4% 96%
2657 RS E RO XFILEKT Y ILEE 0 0 - -
266|2, 3, 5, 6—FhST7INAO—4 —AFIIN 488 488 488 - -
vI)=(Z) -=3—- (2--y00-3, 3, 3
—NYzZiAOo—-1-7aRrRz)) =2, 2=
AFIoOFanvALRFYS—h (Bl&T
ZILNY V)
%73,7,9,13—?h7x%»—5,11—9 79 79 79 - -
Ax¥%-2, 8, 14—bUF7-4, 7, 9,
12=-F I NSTHYRVEITH-3, 12 IV
-6, 10-U#4Y (RIZFATHILT)
2687 RSAFILFISLYZRIL T4 R (BIEFIS 0 898 898 28 927 3% 97%
LARIEFZ L)
2710|57L 27 % JLER 0 0 0 - -
22 5AKAME (BBEER<, ) 26 168 194 22162 22356 99% 1%
273 1—#Tﬁ/ I (BIZ/ILTIL—RTFIILTIL 0 11 12 12 - -
—)L
2I5| RFVIVERBE S MY D A 3322 1021 19106 23449 1400 24849 6% 94%
276|3, 6, 9—KNYTFPHOIVFAV—-1, 11 - 6 6 6 - -
IV BETRSITFLYRVAIIY)
07| R TFIT IV 107 107 2 108 1% 99%
2R TFLVF ARSIV 11 11 0 11 0% 100%
279]11, 1, 11—k OoATd> 1710 1710 -
280|1, 1, 2—hkY)yO@ATdY 1339 1339 - -
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3—2 HWERRH

12 / 18R—Y)

HRYE B8 (ka/5E; 4" 1449V 48 1Emg-TEQ/ ) MR L
FBHEABEHE (HEHE)

18 ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (5£5HE) HHE HEH &
81|k yOo0xTFL YV 2245 2245 64 2308 3% 97%
282| b Y o OO RS 3 3 3 - -
25|k soO=hOxXS Y (RlErZOOESYY) 192978 192978 192978 - -
286 (3, 5, 6—hkYsOO—2—-FYUIJ) 4% 4 40 44 44 - -

i NG EAVD I
288| N soo7iAO XSy (BIZCFC—11) 1910 462 4099 6471 6471 - -
22| Y TFILT IV 0 0 - -
23|77, PITw, PILI7—KYZ)AO— 1173 1173 1173 - -

2, 6—Y=rO=N, N=UFOPIL—/X5—

LAYy BIBRYILSY D)
296[1, 2, 4—KRYXFIRVEY 11277 1238 428 20407 33349 650 33999 2% 98%
2971, 3, 5= hRYXFIRVEY 4762 15088 815 13328 33992 48 34040 0% 100%
28| LAV T R—b 2 2 2 - -
29| b LA TV 0 0 0 - -
300{ LTV 86931 71357 7158 272473 437917 103680 541597 19% 81%
302|204 LV 784 578 542 225 2129 2129 - -
30488 0 0 0 0 0% 100%
305[881EEW 48 48 422 471 90% 10%
36| =TV YILBAFHXAFL Y 0 0 0 - -
308|= v )L 0 0 38 38 100% 0%
309(= v L&Y 355 355 240 594 40% 60%
33|=h0FYEY 0 0 - -
36|l= bRy 0 0 0 - -
7= kXS 0 0 0 - -
318|=HRibikE 0 0 0 - -
320/ =)o )—) 0 0 0 0 - -
21|+ LbEY 30 30 30 - -

HEHEE : SF03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3I—2 HEFER
(13 / 18R—=2)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
; BN M| ose | omee | oaw | O R
322|5° = [N, N-ER (2=-7&FNAFZITTF 3 3 3 - -

W) 72/] -2 — (2—-70%—-4, 6—-v
EB%?I:)L?‘/) —4’ —XRhNFITENT
323|12, 4—ER (ZFINTI/) —6—XAFIFH 47 47 47 - -
—1, 3, 5=—rY7Poy RBIZI AN V)
325|ER (8—F/1) /5 h) 88 (B4 F2 VX 605 605 605 - -
I HEER)
328|ER (N, N=IXFILOFFHILNIVER) & 1 64 65 65 - -
GCIESEIN)
329|ER (N, N=UXFIISFAHILNIVEE) N 1554 1554 1554 - -
, N' —IFLYER (FAAMNEAINFAE
) (BIERY H—/"AX—])
30|ER (1 =AFI—1—=T=ZJLITFI) =Rl 1 1 1 - -
ZET R
331|S, S—EX (1 —=xF)7FOEN) =0—IF 2361 2361 2361 - -
I=FKRZ2F-ATFAT7—b BEZHIXHER)
3N|MFERVZEDERILEY 4 4 90 94 96% 4%
333k kST v 0 0 0 - -
336l kOF /v 1 1 0 1 0% 100%
Mol =)L 0 0 _ _
ey vy 1 1 1 - -
3lkmATa—IL (BlgAhTa—)) 190 190 - -
6|2 —7 =T/ —) 210 210 210 - -
3497/ — L 37 37 0 37 0% 100%
B/O3—Tx/FoRUIUN=3—- (2, 2—-o4n0O 219 58 277 277 - -
AEZJL) —2, 2=IXFNoOTANRYA
IWERFEYS—F BIERILXANY V)
3511, 3—THT TV 497 274 10723 11494 11494 - -
354|079 IIWBEY — /L= IL—TFI 5 438 443 0 443 0% 100%
3B5| 75 IIEEER (2 —TFILAFIIL) 83 83 83 - -
3567 HINBE/ NI —TFIL=NRVI)L 3 3 0 3 0% 100%

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER

3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3I—2 HEFER

(14 / 18R—3)

HRME

B 8 (kg/ 5 ;87 1439 /4R13mg-TEQ/ )

Lt

BS
Ny

ME AN

[ A HE & (HERHE)

el R BE NG

o

.I.

SEH
{0 EE

&
HrH

fBn~=

357

— v ) —-TFIAZX/)-3 -4V 7OE
—7x=)FhSERO=4H-1, 3,
TIOFPIv—4—Fv (ME&T7O7zY

\J

783 50

833

833

358

—9—2v)=TFI-N — (4—TFILAN
YUAN) =3, B=—URFIRYVIERFIR
BIETT7/VK)

143

143

143

360

N—[1—= (N=/JILTIL=TFILAINEAI
) —TH=2=—RYYVAIFJYJ] HILINZY
X FIL (BN II)

2505

2505

2505

361

JFI=(R) —2—-[4— (4—>F7/)—2—
A0z /%Y) 7z /%] JoELr+—
N (Blg/amy TTFIL)

723

723

723

362

1=89—YvY=TFI-3- (2, 6=-U1V
JAEN—4—Tx /% 7)) FARE (
LTS TFI7zvFHOY)

50

50

50

363

5-4—2%)—-TFI—-3- (2, 4=-Y/0O
A-5—4VYZ7OR*>Y7z=)l) —1, 3, 4
—FFYyIF7Y—I—2 (3H) —F¥ (BlgA
FHITIY)

80

80

80

364

S—ov ) =TFI=4— ({[(
FI-5—-Tx/)F>—4-EFY
TUITI)ARYY AFIL) Ry
H7zvEOFRIA—H)

1
)

Y

37 12

49

49

368

4—H—=2 v )=TFIT7x/)—=)

369

2— (4—9—vv)=TFLI7T/%Y) V0
ANF¥FY=2-7OE=Z)L=2ILT71v k (Bl
£70/0L%y hXIFBPPS)

30

30

30

370

2—5—Sp)—TFN—5— (4—9— v
—TFARVINFA) —4—-OO=-3 (2H
) —BUSY Y BB IRY)

235

235

235

371

N— (4=89—=S%)=TFIRUI)I) —4—
200—-—3—IFI—1—-XFIESZY—)L—5
—HANREHIR GIETT I VESK)

40

40

40

372

N— (#=2vY=TFI) —2-RVYIYFT7V
—NZANT VT IR

0%

100%

BRHFE : SH03FE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3I—2 HEFER
(15 / 18R—Y)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
A= (EEHE)

18 ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (5£5HE) HHE HEH &
37413 2 b KFER U ZDKBHEE 2301 2301 11083 13384 83% 17%
376|IN— T hFo A F)—2—-4Op—-2", 6 — 319 319 319 - -

SIFILTEINTZUR BIETESIO-))
378N, N’ —7AOFLYER (VFF NN VEE 560 560 560 - -
) rEDESY RETOERT)
B FJOoEYr7o0OXx8 Y 81 37 174 292 292 - -
383[5—TAE-3—tHVFY—TFIL—6—XF 260 260 260 - -
V=1, 2, 3, 4—F 5SROIV Y—
2, A—UF Y (R&TATII)
384|1 —Z7oEFO/8v 1966 1966 3800 5766 66% 34%
BIANFHFTUILRYXFITVEZD L= K 53 131 222 405 405 - -
3PNFHXFLYITIY 3290 3290 - -
PIAFHAFLY=U4YSTR—b 0 0 150 150 100% 0%
3R/ = —~AFxH 18740 5899 229 51070 75937 22653 98590 23Y% 77%
3UNRY YT LRVZDILEY 2 2 2 - -
395(RILA ¥V ZHREED KBNS 0 0 0 0 0% 100%
WBIRvII=s0) K (BIREEXVDIL) 0 0 0 - -
3PNV ITITE R 0 286 4051 4336 4336 - -
400(~x>v > 1253 9830 224 59510 70817 1830 72647 3% 97%
4011, 2, 4—RVEVN)AHILKRVEET, 2 —& 0 0 0 - -
7K#
4022 — (2—=RUYFFYI)IAEEXY) —=N—XF 1547 1547 1547 - -
LWTZ7EbT=Z)R BIEAT7zFEY M)
403NV )V 0 0 0 - -
4051F 5 RiLEW 3171 43 49 3253 45376 48630 93% 7%
406|R)iE{LET7 =)L (BIEZPCB) 5 5 - -
407\RY) (AFYTFLY) =7ILFII—FI (7 5266 41856 149483 196605 1869 198474 1% 99%
IWEIEDREHRN1 2151 5XTOEDRY
TOREWICE S, )
408 n_“)ul/ (AFYITFLY) =9 FNTzZ)LIT— 18 4696 170 4883 4883 - -
T

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3I—2 HEFER
(16 / 18R—2))

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) R L
A= (EEHE)

18 ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (%&HE) HHE HEH &
409|R) (FAF>TFL V) =RFVII—FILEEE 6796 20482 36405 63684 1800 65484 3% 97%

IATIFRNYDL
m0ﬁu(1$91%vy)=/:»71:»1—f 120 9481 320 9920 9920 - -
AMFEILLTILTE R 25941 3338 337 44346 73963 95 74058 0% 100%
42|V HY RUZDEEY 10 10 22265 22275 100% 0%
413K 7 Y ILEE 1 1 1 - -
MalEk< LA VEE 0 0 0 - -
45(x 557 ILEE 13 13 0 13 0% 100%
46X F 7Y IIVEE2 —TFILAEI)L 1 1 1 - -
MNTAS 2 YLEE2, 3—TRFLFOFIL 0 0 - -
ANBIAS VYIEE2 — (UAFILTZI/) IFI 0 0 0 - -
4201 X 49 5 1) JLER X F ) 271 105 0 376 1 377 0% 100%
422 (2) —2" —AFVTFTEI I/ V=4, 6— 2531 2531 2531 - -
IAFN—2-EYIVZWERSYY (RE7
T)LVJYV)
A3 X FIVT IV 0 0 0 - -
RAAFI=AYFFITEX—b 20 20 20 - -
A2TIN=AFILAINI VBT —FT7FIL (Bl&AL 90 132 222 222 - -
NYIILIIENAC)
428|N—AFIAHINI VB2 —ChVH ) -TFIL 1182 13 1195 1195 - -
Z72xz=) (BT /) THINTXIEBPMC)
429X F)=3—-2s00-5— (4, 6= ArFY 28 28 28 - -

—2—-BEYIVZIANESAILZLT 7ESIL
) — 1 —AFIESY—IL—4—AILKRFYS—
M (BIZ/ANOZ)L 7OV AFI)

430|xF)= (S) —7—-4-00-2, 3, 4a, 5 15 15 15 - -
—FhZERFA-2= [XFFZHLKRZL (4
—NyZAOX RFTTTZL) AILREAIL
14v5F/ [1, 2—el [1, 3, 4] &%%
STV —4a—ALKRFTI—F (BIEA VR
HANT)

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

R3—2 ZEEFER
17 / 18=R—30)

HRME B 8 (kg/ 5 ;87 1439 /4R13mg-TEQ/ ) Lt

[ A HE & (HERHE)

BS
uipi
S
pii
R
~H
P
i
B
i
D
ol

.I.

{0 EE

&
HrH

SEH
EE
fBn~=

RE: | MRAEE RIE BEA INEf

431 )(9")|/— (E) —2— {2—[6— (2=>7 1746 1746 1746 - -
v]1 7

JZ2hakEY)

43213 —XAFI)I—1, 5= (2, 4—%>2U)) — 200 200 200 - -
1, 3, B—RYFHERYEH—1, 4-T> (
LTI R52)

ABBIN=AFILFFA AN VEE (BIZH—/V4) 150 150 150 - -

434 AFI =N, N =IAFI=N= [ (XF)L 499 499 499 - -
HIVIREAI)) AFV] =1 =FAFFHLAI
Tt RBAFHIN)

4B (X FI=2— (4, 6= ARFT—2—

9:»1#9)—6—[1—(xh$/4
I?»]&y77—h(%%eus Ny
1%

48 48 48 - -

YN\ =

\\./// r
W~

ABBIAFINFTHIL Y 3 851 1 855 2769 3624 76% 24%

44011 — A F)I—1—TzzZ )T F)b=k FAR)LF 0 0 0 - -
FOR

443|1S = X FI—=N— (XFILALNREAS VA F) 1354 1354 1354 - -
FATEMMIF—b (FIEXYII)

AXF = (E) =X bFoa43/— (2— {[( 53 53 53 - -
{(E) =1—=0[3—= (hMUZNAOXFI) 7
TZI] IFYFVY PIJ) AFV] AFIV}
alf»)Tt&—h(%%hU7n#9xhu
v

5| XFJ)= (E) =X F¥A43/ [2— (FIK 615 615 615 - -
— M)A FOAFIV) 7] TEY—H (
BEZI LY X AXFI)

UIAFLVER (4, 1=2aO~NFILY) =2 1 1 0 1 0% 100%
AVITR— b

448 X;’-l/‘/t“l (4, 1—=2z=LYV) =4Iy 27 27 0 27 0% 100%
7E—k

450IN— (6 —A pMFP—2— l:')/)I/) —N—XF 96 96 96 - -
IVFZFHILINZ VEBO - v )=TFI
71_»(%%EU7%ﬂ»7)

BRHFE : SH03FE



OBHAHHEDH

EHEDXMRIEFMERIKEHER

3. BHER (WRFE - IFNREE - RE - BEF) HOKF (BHR)

x3I—2 HEFER

(18 / 18R—3)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) R L
A= (EEHE)
vE ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEA NE (%&HE) HHE HEH &
45212 = X )WAT IRV FT V=)L 1 1 0 1 0% 100%
453|EY TV RUZEDIEEY 85 85 0 85 0% 100%
45412 — (BEIWKRY I/ OFF) RV FTY—=I) 0 0 0 - -
455 LR Y v 56 56 60 116 52% 48%
ABIYABSAFIL=2, 2—sO0E=ZIL (B4 615 68 683 683 - -
Y/ OINKRARIEDDV P)
459 ABRRNYR (2= O00TFI)) 0 0 0 - -
460(Y ABERY KDL 0 0 0 0 0% 100%
61|{YABENY 7L 4 4 4 - -
462(VY ABE R Y — /L= IL—TFIL 0 0 0 - -
=k 326780 1393843 408188 707048 2835859 470689 3306548 14% 86%

BRHFE : SH03FE




